play
MADISON
PARKS

Madison Parks Superintendent

Madison Parks Division
www.cityofmadison.com/parks

Administrative Office

Planning and Development
Community & Recreation Services
210 ML King, Jr. Blvd. Rm. 104

P.O. Box 2987

Madison, WI 53701-2987

Phone:  608.266.4711

Fax: 608.267.1162

Textnet:  866.704.2315

Parks Operations Offices
Goodman Maintenance Facility
1402 Wingra Creek Pkwy.
West Parks, 608.266.9214
Summit, 608.288.6164

West Forestry, 608.266.4816
Construction, 608.266.6289
Conservation, 608.267.4918

Sycamore Maintenance Facility
4602 Sycamore Ave.

East Parks, 608.246.4508
East Forestry, 608.266.4816

Olbrich Botanical Gardens
3330 Atwood Ave., 608.246.4550

Warner Park Community
Recreation Center
1625 Northport Dr,, 608.245.3690

Irwin A. & Robert D. Goodman Pool
325 Olin Ave., 608.264.9292

Golf Madison Parks

Supervisor, 608.838.3920
Glenway Golf Course

3747 Speedway Rd., 608.266.4737
Monona Golf Course

111 East Dean Ave., 608.266.4736
Odana Hills Golf Course

4635 Odana Rd., 608.266.4724
Yahara Hills Goif Course

6701 E. Broadway, 608.838.3126

State Street Mall/Concourse
Maintenance
211 S. Fairchild St., 608.266.6031

Forest Hill Cemetery
1 Speedway Rd., 608.266.4720
i

A Proud Division of
the City of Madison

March 13, 2012

NOTICE OF ADDENDUM
ADDENDUM NO. 1
CHEROKEE PARK PLAYGROUND IMPROVEMENTS
CONTRACT NO. 6864

Revise and amend the contract document(s) for the above project as stated in
this addendum, otherwise, the original document shall remain in effect.

1) - On-line Documents and Specifications — Full Replacement

- REPLACE ENTIRE DOCUMENT —
Due to a publishing error, some sections are missing alternating pages.
This error only exists in the on-line version of the document and has been
fully replaced.

2) — Section D: - Special Provisions —
Delete: the original "80191 Hexagonal Roof” installation instructions.
Add: the attached “80191 Hexagonal Roof” installation instructions. (Page
1-4)

3) — Section E: - Proposal
Delete: the original Proposal page E-1
Add: the revised Proposal page E-1 that references the “City of Madison
Standard Specifications for Public Works Construction — 2012 Edition”

Any references made in the Special Provisions to the Standard Specifications for
Public Works Construction shall be the 2012 Edition

Please acknowledge this addendum on page E-1 of the contract documents.

Electronic version of these documents can be found on the City of Madison web
site at:

htto://www.cityofmadison.com/business/PW/contracts/openforBid.cfm

If you are unable to download plan revisions associated with the addendum,
please contact the Engimeering office at 608-266-4751 to receive the material by
anothep route. *

-

%

Kevin Briski
Park Superintendent




power((fs) scare: | 80191
‘ HEXAGONAL
| ROOF

Enriching Childhood Through Play.
1-800-235-2440
ISSUED/REVISED: 10/01/10

_INSTALLATION
“DETAIL

= PARTS LIST
REFERENCE

|

|

|
| :
|- |
v |
' [
' l
r~~~\_ ]
| Y

e ]
N ////f |
BTy
| | I
I I
| [ |
| I
| | I
| L
[ .
I
J' 9'-8 15/16"
[2.97M] l“
= 8-43/8"




INSTALLATION INSTRUCTIONS

Before assembling this equipmen"t,, read the enclosed
INSTALLER INSTRUCTIONS in the installation booklet;
follow all the instructions during installation.

Assemble parts as shown in the ASSEMBLY DRAWING.
Refer to the assembly details for the specific hardware
required in each connection.

Step 1. Attach 3/8" x 1 1/2" P.B.H.C.S. w/Patch to top
four holes in all Corner Frames using 3/8" T-nut, T-nuts
must be oriented to place flange against frame. See Detall
574. Leave the bottom two holes in each corner frame
open. These will be used later.

Step 2. Place Corner Framés over Uprights. Do not rivet
until assembly is complete.

Step 3. Place Slats into roof tray, and attach using #10 x
3/4" Phillips screw. Attach the bottom slat to the bottom
Roof Tray using 3/8" Tee Nut and 3/8" x'1" P.B.H.C.S.
w/Patch. See Detail 541.

Step 4. Attach Roof Tray with Slats assembly to bottom
side of Corner Frames using 3/8" Hex Nut, 3/8"
Lockwasher and 3/8" Flatwasher to the 3/8" x 1 1/2"
P.B.H.C.S. w/Patch screws that were attached during
Step 1. Refer to Detail 576.

Step 5. Place 3/8" x 1 1/2" P.B.H.C.S. w/ Patch screws
through the remaing bottom holes in the Roof Tray with
Slats assmebly and corner frames and attach using 3/8"
Lockwasher, 3/8" Flatwasher, and 3/8" Hex nut. Refer to
Detail 577.

Step 8. Place Cap over roof peak and attach using 1/4" x
3/4" wood screws and 1/4" flat washers. See Detail 521.

Step 7. Rivet Corner Frame to Uprights. See Detail 475.

PARTS LIST
REF No. PART
NO DESCRIPTION REQ'D | NUMBER

1 |Hexagonal Roof Corner Frame 6 179483
2 |Hexagonal Roof Cap 1 179487
3 |Roof Tray 6 179450
4 156" Roof Slat 6 179457
5 [51" Roof Slat 6 179456
6 |47" Roof Slat 6 179462
7 42" Roof Slat 6 179461
8 38" Roof Slat : 6 179460
9 34" Roof Slat 5. 6 179459
10 [29" Roof Slat 6 179463
11 125" Roof Slat 6 . 179458
12 121" Roof Slat 6 179464
13 | 16" Roof Slat 6 179447
14 112" Roof Slat 6 179446
15 17" Roof Slat 6 179448

Hardware Complete 1 179553
3/8" x 1 1/2" P.B.H.C.S. w/ Patch 36 - 812053
3/8" x 1" P.B.H.C.S. w/ Patch 12 812050*
3/8" Lockwasher 36 817334*
3/8" Tee Nut 36 804556*
3/8" Hex Nut 36 804053*
3/8" Flatwasher (1 1/4" O.D.) 36 817424*
Pop Rivet 12 140068*
# 10 x 3/4" Pan Head Phillips Srew 75 . | 809605*
1/4" Flatwasher 75 817408*

Unless Otherwise Specified, All Units of Measure are Each

* Included in Hardware

Warning: During Installation, Hardware And Small Parts Are Choking Hazards
" For Young Children. Store Unused Parts Appropriately Until Assembly Is Completed.
Once Assembly Is Completed, Remove Any Unused Parts From The Play Environment
And Dispose/Save Them In A Secure Location.

PAGE 2




DETAILS -for-
80191

IMPORTANT
To Repuce tHE Risk oF CLOTHING ENTANGLEMENT IN CompLiance witH ASTM F 1487 Any BoLt Enp
ProtrUbING MorE THaN Two FuLt THreaps Bevono THE F ace oF THe Nut SnaLL Be Cur-OFrF FrusH, FiLep
SmootH anp TReATED TO PREVENT CORROSION.

Norte: Arrer AssemBLY IS COMPLETE, Peen Tee-Nuts anp FLatwasHeRs To MATcH Rabius oF Pipe.

0 INCH 1 3 4 5 6
|.| |.|.|.1.|'|.|.|.l.|. L1, .|.| Ll |.1.|.|.| Ll |.|.|11.|.x.|.|.|.|. Ll .I.I
|llIllIIll]llllIIIHIIIIIlllll’lllIIlIllIIIIIlHHlIIl[IIIIIIlll|IIIIIIIIIIIIIII’IIHlIHIIHIIIIIII|IIIIIIIIIIIIHIIIH]IIIIllllllllllllllllllIIIIHIlII
ocM 1 2 3 4 5 6 8 ¢] 10 11 12 13 14 15
ARCH
UPRIGHT _ N #10 x 3/4" PAN HD

PHILLIPS SCREW
(809605)
FIELD DRILL @3/16"
(#11) HOLES TO RECEIVE - ROOF
POP RIVETS. USE EXISTING ASS'Y
HOLES AS TEMPLATE,
POP RIVET
(140068) 1/4" FLATWASHER

(817408)

- Kz}

3/8"x11/2" P.B.H.C.S. w/PATCH

AN / (812053)
3/8" x 1" , %\

P.BH.C.S.
WIPATCH - “6
(812050)

\_ 3/8" T-NUT

(804556)

ROOF CORNER

SLAT /_ FRAME
N | W

3/8" TEE NUT
(804556)

~/

PAGE 3




DETAILS -for-
80191

IMPORTANT
To Repuce THE Risk oF CLoTHING ENTANGLEMENT IN CompLiance witH ASTM F1487, Any Bot Enp
Protruping More THan Two FuLL Threaps Bevonp tHE Face oF THE Nut SHaLL Be Cur-Orr FLusH, FiLep
SwmootH aNp TReEATED TO PREVENT CORROSION.

Nor7e: Arter AssemsLyis CompLETE, Peen Tee-Nuts anp FLatwasters To MATcH Rapius oF Pies.
0 INCH 1 2 3 4 5 6

l.hl.l.l'.l.l.l.l.l.l.l._l,l.l.|.f.|.l.t.|.l.l.|.|.r,l.|.|.l.l.l.'.n.l.l,l.i.l.l. .l.l.,l.l.l.lll.l

IIIHIIIII!IIIIIIIHIHIIlllIIlIlIlIIIIIIIIII]IHI'IIIIIHH‘IIIIIHIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIHIIIlIIIIHIIIIIIIIIIIIIHIIIHIIIIlIIIIIIIIIHII”
3 .

11 12 13 14 156

1/4" FLATWASHER
(817408)

#10 x 3/4" PAN

HD PHILLIPS SCREW
(809605)

ROOF TRAY

ROOF CORNER W/SLATS

FRAME ASSEMBLY

3/8" FLATWASHER

(817424) {

3/8" LOCKWASHER
(817334)

3/8" HEXNUT
(804053)

SLATS

ROOF TRAY
W/SLATS _\r’ ROOF CORNER
FRAME ASS'Y
X 3/8" FLATWASHER
(817424)

3/8" LOCKWASHER
(817334)

3/8" HEXNUT
(804053)

3/8" x 1 1/2" P.B.H.C.S. W/PATCH
(812053)

&

PAGE 4 J




SECTION E: PROPOSAL

CHEROKEE PARK PLAYGROUND IMPROVEMENTS
CONTRACT NO. 6864

Bidder must state a Unit Price and Total Bid for each item. The Total Bid for each item must be the
product of quantity, by Unit Price. The Grand Total must be the sum of the Total Bids for the various
items. In case of multiplication errors or addition errors, the Grand Total with corrected multiplication
and/or addition shall determine the Grand Total bid for each contract. The Unit Price and Total Bid must
be entered numerically in the spaces provided. All words and numbers shall be written in ink.

1.

The undersigned having familiarized himself/herself with the Contract documents, including
Advertisement for Bids, Instructions to Bidders, Form of Proposal, City of Madison Standard
Specifications for Public Works Construction - 2012 Edition thereto, Form of Agreement, Form
of Bond, and Addenda issued and attached to the plans and specifications on file in the office of
the City Engineer, hereby proposes to provide and furnish all the labor, materials, tools, and
expendable equipment necessary to perform and complete in a workmanlike manner the specified
construction on this project for the City of Madison; all in accordance with the plans and
specifications as prepared by the City Engineer, including Addenda to the Contract Nos.

through issued thereto, at the prices for said work as contained in this proposal.

If awarded the Contract, we will initiate action within seven (7) days after notification or in
accordance with the date specified in the contract to begin work and will proceed with diligence
to bring the project to full completion within the number of work days allowed in the Contract or
by the calendar date stated in the Contract,

The undersigned Bidder or Contractor certifies that he/she is not a party to any contract,
combination in form of trust or otherwise, or conspiracy in restraint of trade or commerce or any
other violation of the anti-trust laws of the State of Wisconsin or of the United States, with
respect to this bid or contract or otherwise.

Accompanying this Proposal is ] Bid Bond or [ ] Certified Check in the amount of
Dollars ($ ) or [] a Certificate of Biennial Bid Bond as
required by the Advertisement for Bids.

(IF BID BOND IS USED, IT SHALL BE SUBMITTED ON THE FORMS PROVIDED BY THE
CITY. FAILURE TO DO SO MAY RESULT IN REJECTION OF THE BID).

I hereby certify that all statements herein are made on behalf of
(name of corporation, partnership, or person submitting bid)

a corporation organized and existing under the laws of the State of . a
partnership consisting of ; an individual trading as ; of
the City of ; State of ; that I have examined and carefully prepared this
Proposal, from the plans and specifications and have checked the same in detail before submitting
this Proposal; that I have fully authority to make such statements and submit this Proposal in (its,
their) behalf; and that the said statements are true and correct.

SIGNATURE

TITLE, IF ANY

Sworn and subscribed to before me this

day of , 20

(Notary Public or other officer authorized to administer oaths)

My Commission Expires

Bidders shall not add any conditions or qualifying statements to this Proposal.

03/13/12-6864ContractFrmNonSBE.doc E-1




